
https://www.mk1manufacturing.com/

08/01/2022

PART: MSR-2XFX-3U (REV01)

FILE: MSR-2XFX-3U.VXW
DRAWN BY: MVC

©2022 MK1 Studio, llc

Apple and Mac are trademarks of Apple Inc., registered in the U.S. and other countries and regions.
Their use here is to denote compatibility and not an endorsement.

**Not Included

MSR-2XFX-3U (01)

FIG 01

Rubber Positioning Inserts

Centers the computer for 
proper alignment into rack 
kit.

Rubber Grommet

FIG 02

Step 01
Place Computers into rack 
kit as shown by tilting the front down 
and sliding it through the opening on the 
front face of the rack kit.  Make sure each 
computer is fully seated between all the rubber 
positioning inserts shown in FIG 01.  The computer should be 
resting on top of the rubber grommet shown in FIG 01.  

Step 02
Place the top clamps (Included hardware 01) so that the arrow is 
pointed to the front of the rack.  The logo on top of the computer 
will be visible in the hole in the top clamp.  Secure the clamps with 
the included 8-32 x 4" screws (Included hardware 02)  Do not over 
tighten the screws.  Only the rubber pad on the clamp should be 
touching the computer.  Overtightening the clamp can damage the 
computer and rack kit.  

Included Hardware:
(01) 2- Top clamps for computers
(02) 4- 8-32 x 4" Pan Head Screws
(03) 8- 10-32 x5/8" Rack Screws

(If your rack enclosure is threaded different 
you will need alternate screws up to 1/4" diameter)



https://www.mk1manufacturing.com/

08/01/2022

PART: MSR-2XFX-3U (REV01)

FILE: MSR-2XFX-3U.VXW
DRAWN BY: MVC

©2022 MK1 Studio, llc

Apple and Mac are trademarks of Apple Inc., registered in the U.S. and other countries and regions.
Their use here is to denote compatability and not an endorsement.

**Not Included

MSR-2XFX-3U (02)

FIG 04

Step 04
It is recommended that for fixed racks the computers be installed in 
the rack kit prior to the kit being installed in the rack.  If you have 
enough room above your rack location the compters can be installed 
after.  Using the Supplied 10-32 rack screws(Included hardware 03), affix 
the rack kit in the recomended order for easiest installation.  If your 
rack enclosure has different threading than 10-32 you will need to 
supply alternate screws.  The holes in the Rack Kit will accomodate 
up to 1/4" diameter screws.

1

2

3

4

5

6

7

8

FIG 03

Step 03
If the optional power buttons are installed, it is important to 
test their function prior to installing in the rack enclosure.  
When the button is pressed on the front of the rack the 
plastic toggle on the rear will press the power button. 

FIG 05

Cooling
The MSR-2XFX-3U is designed to allow the computer to pull 
cool air from the front of the rack and pass it to the rear.  Do 
not obstruct the front cooling vents on the face of the rack 
kit.  If only one computer is being used is is recomned to 
install our blank insert that will prevent the computer from 
recycling warm air.  


